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1. Answer the following questions as directed :

(a) Write True or False:

O Sam 570 2

If (3 ANB=4¢, then (csfoa) ANg=5

2 1 -1
(b) lf(aﬁ)A=(l . 3]

14

Find (Rfg =m) ¢ (A')

(c) Using the property of determinant, find

Reffees il el 3R, R w1 —

a N N
PR S L N 1Y
N W W
I
v

1d) Find the value of r:

r I VA [RfT e
'p =110

() What is the value of 0! ?

0! I W &I 2
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(f) Fill in the blank:
Qe HE a4 ¢

The sum of the deviations of the variables from their arithmetic
mean is

bR oTed 2 Ryfer aisrest e |

{g) Write down the relationship between mean, median and mode.

TN, NG SR IR WEero A/ T=AE! & |

(h) Fill in the blank:
QR 31T 7T 8

For all equal -value of observations, standard deviation is

TR FHCEl AN WK E, T Rpfe e |

2. Answer the following questions in brief: : 2x5=10
©ETY SCHRO HYCE el Tl ¢

(@) In how many years will a sum be double of itself at 10% p.a.
simple interest ? : .

R IeaS @51 SRS RS 10% T o© god 29 2

If (W) "¢ . ="c., then find the value of "c,.
16 5 3
csferl e, I T Tferedl|
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(c) For what value of x in A=( Z :] will be singular ?

2 X o
A=[_2 J@xﬂﬁﬁwmewﬁlawﬁ?

(d) Find the product AB of the two matrices

A=(1 2 3 4), B=(1

W N

Wl oo A=(1 2 3 4);‘311#, B= avﬁqﬁABﬁcfﬂwl

(e) 1f (I@) Q, =142 and (9=) Q,;-Q, =18.
Find median (34 <3 z=0).

Distribution is symmetrical (IG5 FIge) |

3. A sum of money is putout at C.I. for 2 years at 20% p.a. It would
earn ¥ 482 more if the interest were payable half—yearly than it
were payable yearly. Find the sum. 3
2 IFR IR IFR 20% TS 5T Fo© O AR &maan*immmrcmzrﬁ?ﬁ
ARCNY Tecd WS vfﬁtrnawza, (ST 482 T e ol ®A| Yo
4] =R Refa == '
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4. Draw the graph of: (any one) ' 3

1Y A 4 8 (Feear abr)
() x+y=1, x+2y<10, x,y=20

(i) x+4y<12, 2x+5y$20, X%uyz0

6
5. If the coefficient of x® in the expansion of (x2 +LC-J be 160, find

X

the value of k. n. | 3

6 .
(x%’%) T TEeEes I X2 I A 160 T, (9% k I 99 [T 30

2
6. The matrix A is given by A =( 0], prove that

-3
A2+3A+SI=—- 3 ;
-12 -1

where [ is an unit matrix. _ 3

mmﬁm_,qz( ; (2)] 2 4 (T,

A2 4+3A+57= = 8
T8 ws]

T ] 6l GFF (I |
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7. For two values of x, the mean and standard deviation are 10 and
2 respectively, what are the values of x ? 3

X 3 4Bl W 03, [ R TS R[pifs et <ieg @ 10 9 e 2 1 x I S 55
fTf&

8. A sum of money amounts to Rs. 8,820 after 2 years and 79,261
after 3 years at a certain rate of C.I. Find the sum and the rate of

interest. G

s SR 1 S 2 75T Pigs (g 8,820 B Oi% begfE ol W RS
7S 3 IFA oige @ 9,261 Tl | YOI G (AsiTa o TR [ =

9. A man decides to deposit ¥ 7,000 half-yearly in a bank which pays
4% C.l. payable half-yearly. Find the total accumulation at the end
of 6 years, assuming that the investments are made at the end of

each half vear. Given, log102 =2-:0086, log126904 =51032024 .
S

&R JfE@ Wa AREFE 7,000 T @F© & WA Frae 7@ [ o s
sAf<eatiy SN 4% b@giE 7o ARCNY T | &ffs o T (7o RfFcami s =
I «fts 6 TR (FS P GIfAS NF SR Tieea |

(fﬁ‘s?f Utz log102 =2-0086, log 126904 = 51032024 )
Or

- A company borrows ¥ 1,00,0.00 on the condition to repay it with

C.I. at 5% p.a. by annual instalments of ¥ 10,000 each. In how
many years will the debt be paid off ? S

B @I FEEFMR 1,00,000 B €14 GE TS TR 5% S T
TS iy Ffer = o 2fSehl afde [ <9 ®9 10,000 Bt | fer
IR fooas g «ifkeay =9 =ika ¢
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10. Prove that (&4 << (3) 3 . 5

1 1 1 1 n
+ =+ R o =
1-2 2-3 3-4 nn+l) n+l

11. There are 4 questions in group 4, 4 in group B and 2 in group C.
In how many ways can you select S questions taking 2 from A,
2 from Band 1 from C? | S

(i A S 4 B, (90 BS 4 B T (516 C © 2 B 2% ez f[Fo= 2Hia (oo
A3 9= 2 B, 55 BT 2| 2 B 9% (56 C T o[ mm’casﬁmm@‘ﬁasﬁa
MR | | |

12. Examine whether or not there is any term containing x!! in the

, 18
- 1 "l X —-— . S
expansion of ( 2x)

. (18 '
[xz__;_) 3 UfeafEs 411 o4 (G oM O @ 79 2R 3196 |
X

13. Prove that (&su¢ € (4) ¢ ‘ 5

1 .
a b ¢ :(a-b)(b—c)(c-—a)(a+b+c)
e b3 Ca 4
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14. Solve by using Cramer’s rule: : S

caliad fodrara TUm S ¢

xX+2y-z=-3
3x+y+z=4

X-Yy+2z=06

Or

If () A—QB=(—Z ;J and (<) S

[—11 9
A-3B=
4 -13

Find the matrices A and B.

—_, =

A W& B (=% 901 SfFed |

15. Compute mean, median and mode of the following distribution :

2+3+3=8
G THAGIE ffAl WA, 9 SR T Fem w4 g
Marks  :| 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
No. of v
Students : 5 8 12 16 10 8

33T BMST [8]
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16. From the following data calculate standard deviation and quartile
deviation : _ 4+4=8

oo fral oU/E oR WieE [pife wie vedisl Tpifs fefa g

Wages (Rs):| 0-10 | 10-20 20-30 | 30-40| 40-50 | 50-60 | 60-70 | 70-80

Workers :| 20 45 85 160 70 59 35 | 30

Or

What do you mean by dispersion ? What purpose does a measure
of dispersion serve? Write merits and demerits of measures of
dispersion. 2+2+4=8

fvzel gfeTee 6 gan ¢ fvmem 2MCFoI@anE (@ Sy =@ w01 2 Rvgaea edled
@ (MAEE T &4 |

17. (a) Calculate Karl-Pearson’s correlation coefficient. 5

Fief-[orae e T2-AEE eolsE Weig =4

X = 1 2 3 .4 5
y 6 8 11 9 12
Or
If (@) f(x)=x>-3x+2, find (Fefa 1) f(A) if (a@) 5
3 1 2
A=l 01 4
-1 I B
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Define correlation. Distinguish between positive and negative

correlation. ' 8
HE-HFEFA AT o1l | 4G O «eERF 7T Es A [ b z@n

An urn contains 8 white and 3 red balls. If two balls are
drawn at random, find the probability that 9
(i) both arc white

(i) both are red

(i) one of each colour

451 Ereles 8 B 75l Wik 3 B @l T Wiz | MW 151 <o A e S
=, (SC%, Aeiel ReifR Thea '

(i) A 6 R
(i) WEICH! 3¢ (@4
(i) =fSTol 482 @B
Or

In a class of 52 students, 20 students play football and 16
students play hockey. It is found that 10 students play both

the games. Find -the no. of students who play neither. S

52 & FrEdR (=T, 20 Ta K dicg g5 (AE wi% 16 T K
=¥ (A 1 3AR 10 T Frmdicg s (05 (A | @ meE BEedie
e fmm 0 ‘

[10]
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(b) If A and B are two events with P(A+B)=%, P(Z):% and
1
P(AB)=Z, then find

(i) P(A)
(i) P(B) and p(AB). . . -3

M A S B 75! <o = I

P(A+B)=%, P(Z)=%‘5!ﬁ»

P(AB)=% cors Bl =

() P(A)

(i) P(B) %= p(AB)

33T BMST [11]



